'Iédéié Regquireds .

Parts Included:

1 Top Assembly. * philips Screwdriver:
4 Legs . STINCLUDED™

1 Bottom Ring

Minimum (16) Bolt 3/16” x112"

It is strongly rec0 ended that this table be assembled by two-persons - 10 avoid n%,aﬂdng or scratching the finish.

It is easier t0 assemble this product upside down. , -

L Locate and unpack all of the pasts required and plaéé {hem on a soft arface (ie. carpet )-
2. Place the Top Assembly upside down on 2 soft surface: :
3~ Placeand aling the Legs with the top ¥ insert the bolts # 716" X 3/8" and tighten- -
4. :

Place and aling the the frame against the bottom ring 10 insert the bolts #3/16" X 3/8" and tighten.
Make sure that the corresponding aumbers of the Top Assembly thatch those of the Legs: ' o

Ttis recommended that you peﬁodically check and tighten the ':sérewé during the lifetime of the product.

Clean with a damp cloth and buff dry with a sof # foth. Use of ir‘gémmesciai polishes of waxes is not recommended.
Use coasters under beverages and articles that may ocratch. Do not place hot items directly orrthe surface.

TOP

TOP

BOTTOM RING

COMPLETE TABLE



ASSEMBLY INSTRUCTIONS

Parts Included: Tools: Reqmred
1 Top Assembly. Philips Screwdriver.
2 Sets of Legs. : (NOT INCLUDED)

2 Side stretchers.
Minimum (16) Bolt 3/16" X 1/2"

Before you start:
It is strongly recommended that this table be assembled by two persons to avofd marking or scratching the finish.
It is easier to assemble this product upside down.

Instructions:

1. Locate and unpack all of the parts required and place them on a soft surface (i.e. carpet ).
© 2. Place the Top Assembly upside down on a soft surface. L

3. - Place and aling the Legs with the stretchers to insert the bolts # 3/16" X 1/2" and tighten.

4. Place and aling the the frame against the top to insert the bolts # 3/16" X 1/2" and tighten.

Make sure that the corresponding numbers of the Top Assembly match those of the Legs.

Itis recommende&lat you periodically check and tighten the screws during the lifetime of the product.
Claar witha damp cloth and buff dry with a soft cloth. Use of commercial pohshes of waxes is not recommended.
Use coasters under beverages and artlcles that may scratchz:DQ not: place hot Items dlrectly on the surface

TOP

Side ‘Stretcher

COMPLETE TABLE

Thank you for purchasing furni‘iure



